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STRAIGHT LINES

One Marks Questions With Answers

1. Find the slope of the line joining

(2,3) & (4,6)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_06F8QPnRoR4W

° Watch Video Solution

2.Find the slope of the line joining

(-3,4) & (7,-12)

o Watch Video Solution

3. Find the slope of the line making an angle of

210° with positive direction of x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_06F8QPnRoR4W
https://dl.doubtnut.com/l/_0Al8UjyYmSAa
https://dl.doubtnut.com/l/_7E2JtdUhIFwk
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4. Prove that AB||CD if A=(-1,-2),B =(0, 1), C = (3,

0),D=(2,-3)

o Watch Video Solution

5. Prove that AB 1 CD if A=(2,1),B =(0, -1),

C=(-1,8),D=(4,3)

° Watch Video Solution



https://dl.doubtnut.com/l/_3LOPT8rRqfnn
https://dl.doubtnut.com/l/_HabITuROLq1l

6. Find A if the line joining (1, 5) and (2, A) is

parallel to x axis.

o Watch Video Solution

7. Prove that the following points are collinear

(using the slope concept)

A= (3, —4),B=(-176),0=(-21)

o Watch Video Solution



https://dl.doubtnut.com/l/_1trpJts850G3
https://dl.doubtnut.com/l/_HhRnb2fMFaTy

8. Find the equation of the line passing

through (4, 5) & having slope 3.

o Watch Video Solution

9. Find the equation of the line passing

through (2, 3) & (4, -5)

o Watch Video Solution



https://dl.doubtnut.com/l/_g1HgWWLSbRri
https://dl.doubtnut.com/l/_vYXSnh3fQoVD

10. Find the equation of line having y-intercept

3
1 and making an angle of 135° with positive

direction of x-axis.

o Watch Video Solution

11. Find the equation of the line which cuts off
intercepts 7 and -4 on x and y-axes

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_4vV55ZJhWVlt
https://dl.doubtnut.com/l/_1YPbx0vzhXo8
https://dl.doubtnut.com/l/_V4mZ6zBKHsqG

12. Find the equation of the line if p=2 and

a = 60°.

o Watch Video Solution

13. Convert 2z +3y—5=0 to slope

intercept form

o Watch Video Solution

14.Find the slope of the line3z — 4y + 1 = 0.

| & I


https://dl.doubtnut.com/l/_V4mZ6zBKHsqG
https://dl.doubtnut.com/l/_reXXRfFcSiwT
https://dl.doubtnut.com/l/_gbZcBGueNDbT

| ¥ Watch Video Solution |

Two Marks Questions With Answers

1. Find the equation of the median through

vertex A of AABC if

A=(1,2),B=(-34),C=(-1,6)

° Watch Video Solution

2.Find k if the following lines are parallel

3z —4y+1=0 (1)


https://dl.doubtnut.com/l/_gbZcBGueNDbT
https://dl.doubtnut.com/l/_22Y8oV4i1Nel
https://dl.doubtnut.com/l/_ExoizLse9FS1

Sz +ky+7=0 .. (i)

o Watch Video Solution

3. Find k if the following Ilines are
perpendicular

(k+2)x+ (2k+ 1)y =7 and 5z — 4y = 23

o Watch Video Solution

4. Find the equation of line passing through

(4, 2) and parallel to the line


https://dl.doubtnut.com/l/_ExoizLse9FS1
https://dl.doubtnut.com/l/_m2jxke6dVzcf
https://dl.doubtnut.com/l/_WPXLwvFd0zDH

br — Ty + 11 =0

o Watch Video Solution

5. Find the equation of the line passing
through (4, 5) perpendicular to the line

3z +Ty—2=0.

o Watch Video Solution

6. Find the equation of the passing through (2,

3) and cutting off equal intercepts on co-


https://dl.doubtnut.com/l/_WPXLwvFd0zDH
https://dl.doubtnut.com/l/_5LHm7x5mPDoH
https://dl.doubtnut.com/l/_Py1bMADloYXV

ordinate axis.

o Watch Video Solution

7. Find the equation of the line such that the
portion of the line intercepted between the

axes is bisected at (3, -2).

o Watch Video Solution

8. Find the acute angle between :-

br+6y—1=0, z—1ly+8=0


https://dl.doubtnut.com/l/_Py1bMADloYXV
https://dl.doubtnut.com/l/_2US0h8AncnKQ
https://dl.doubtnut.com/l/_zCLsSOVTu2RO

° Watch Video Solution

9. Findt the point of intersection of following
lines :-
r—2y+3=0 ..(1)

3z +2y+5=20 .-(2)

o Watch Video Solution

10. Prove that the following lines are

concurrent also find the point of concurrency.


https://dl.doubtnut.com/l/_zCLsSOVTu2RO
https://dl.doubtnut.com/l/_APndokjWI6qY
https://dl.doubtnut.com/l/_ifuQxlTvCVJC

3r —4y+5=0 ..(1)
Tt —8y+5=0  ..(2)

dr + 5y =45  ...(3)

o Watch Video Solution

1. Find k so that the following lines are

concurrent

3z +y =2 ..(1)
kx +2y =5 .-(2)
2c —y =3 ...(3)

o Watch Video Solution



https://dl.doubtnut.com/l/_ifuQxlTvCVJC
https://dl.doubtnut.com/l/_oK4Zstfyo9rl

12. Find the orthocentre of the triangle whose

vertices are given by (5, — 2), ( — 1, 2), (1, 4)

° Watch Video Solution

13. Prove that the points (2, -5) & (-2, 4) lie on

the same side of the line3x +y+ 5 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_oK4Zstfyo9rl
https://dl.doubtnut.com/l/_evDGhZtUiH43
https://dl.doubtnut.com/l/_f661oZi4GSiH

14. Prove that the points (2, -3) & (-3, 7) lie on
the  opposite sides of the line

2z + 5y — 8 = 0.

o Watch Video Solution

15. Find the length of the L r drawn from the

point (2, 3) on the line 3z + 5y — 2 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_aur0iOj9OVTg
https://dl.doubtnut.com/l/_rDh2jFEYFGTC

16. Prove that the points (2, -5) & (-1, 4) are

equidistant from the line 3z +y — 5 = 0.

° Watch Video Solution

17. Find the distance between the following
parallel lines
3z +4y+2=0 (ax+by+c =0)

3t +4y—7=0 (axz+by+c, =0)

o Watch Video Solution



https://dl.doubtnut.com/l/_lu7eZrFx4pnw
https://dl.doubtnut.com/l/_pwQjDw0Cfldr

Five Marks Questions With Answers

1. Find the ratio in which the line joining (-3, -2)
& (-1, 4) is divided by the line joining (-4, 1) & (1,

2).

° View Text Solution

2. Find the equation of line passing through
(2, -3) & making 45° with the line

br + 6y — 2 = 0.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_aMkwBxkCvC0y
https://dl.doubtnut.com/l/_qcVdIQwssCVZ

3. Find the equation of line passing through

the point of intersection of the lines :-

MN2x+3y—7=0 ... (1) &
br +2y+10=0 ......... (2) & through the
point (2, -3).

o Watch Video Solution

4. Find the equation of line passing through

the point of intersection of the lines :-


https://dl.doubtnut.com/l/_qcVdIQwssCVZ
https://dl.doubtnut.com/l/_Qs8oDYKyDaSr
https://dl.doubtnut.com/l/_OkKe8HhrbomS

& 2zc+y—4=0 ... (2) parallel to

o Watch Video Solution

5. Find the co-ordinates of the foot of the
perpendicular drawn from the point (2, 3) on

the line x+y-9=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_OkKe8HhrbomS
https://dl.doubtnut.com/l/_IjTVtznVUm3y

6. Find the image (or reflection) of the point

(2,)on thelinex +y— 5= 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_ODCcMAPB44vH

